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n−1 + · · ·+ an−1x+ an = 0
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−108x42 − 3200 · 106x32 − 3076800 · 104x22

− 826880000 · 102x1 + 38205440000 = 0

7 x3 = 10x2

−104x43 − 3200 · 103x33 − 3076800 · 102x23

− 826880000 · 10x3 + 38205440000 = 0

x3 = 4

x = 100x1 = 100(8 + x2) = 100
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N ≡ 2 ( 3) ≡ 3 ( 5) ≡ 2 ( 7)

N = 3x+ 2 N = 5y + 3 N = 7z + 2

N N = 23

N ≡ Ri ( Ai) i = 1 2 3 · · · n

N Ai k1

k2 · · · kn ki

ki
M

Ai

≡ 1 ( Ai) i = 1 2 3 · · · n

M = A1 · A2 · · · · · An

N ≡ R1k1
M
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ki

Gi =
M
Ai

> 0 Ai Gi gi < Ai

Gi ≡ gi ( Ai) kiGi ≡ kigi ( Ai) kiGi ≡

1 ( Ai) ki kigi ≡ 1 ( Ai)

Ai gi

gi Ai q1 q2

· · · qn r1 r2 · · · rn

ci

c

A1/g1 q1 r1 c1 = q1

g1/r1 q2 r2 c2 = q2c1 + 1

r1/r2 q3 r3 c3 = q3c2 + c1

rn−2/rn−1 qn rn cn = qncn−1 + cn−2

rn = 1 n cn

ki rn = 1 n rn−1 rn

qn−1 = rn−1 − 1 rn+1

cn+1 = qn+1cn + cn−1 n + 1 cn+1

ki

g = 377873

A = 499067 k



g 1 377873

1 A 499067

1 g 1 377873

2 c1 = q1 r1 1 121194

(q1) (q1 = 1)

(q2) (q2 = 3)

3 c2 = c1q2 + 1 r2 4 14291

c1 r1 1 121194

c2 r2 4 14291

4 c3 = c2q3 + c1 r3 33 6866

(q3) (q3 = 8)

(q4) (q4 = 2)

5 c4 = c3q4 + c2 r4 70 559

c3 r3 33 6866

c4 r4 70 559

6 c5 = c4q5 + c3 r5 873 158

(q5) (q5 = 12)

(q6) (q6 = 3)

7 c6 = c5q6 + c4 r6 2689 85

c5 (q5) 873 158



c6 r6 2689 85

8 c7 = c6q7 + c5 r7 3562 73

(q7) (q7 = 1)

(q8) (q8 = 1)

9 c8 = c7q8 + c6 r8 6251 12

(c7) r7 3562 73

c8 r8 6251 12

10 c9 = c8q9 + c7 r9 41068 1

(q9) (q9 = 6)

(q10) (q10 = 11)

11 c10 = c9q10 + c8 r10 457999 1

c9 r9 41068 1

11 (r10) 1 n =

10 (c10) k =

457999 377873 × 457999 ≡ 1 ( 499067)
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